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QUESTION 1

An architect is designing a company\\'s hybrid cloud environment. Traffic between their local data center and VMC on
AWS software-defined data center (SDDC) requires a high-speed, low latency connection. The connection type should
also support connectivity to services currently being consumed in AWS. Which connection type will meet these
requirements? 

A. Multiprotocol Label Switching (MPLS) 

B. AWS Direct Connect 

C. Four IPSec tunnels for greater bandwidth and resiliency 

D. Route-based VPN 

Correct Answer: B 

 

QUESTION 2

An administrator is creating a runbook of the tasks that the Support team is responsible for within a new VMware Cloud
on AWS software-defined data center (SDDC) configured with Hybrid Linked Mode. Which two tasks must be performed
by the Support team in both environments? (Choose two.) 

A. Monitor workload virtual machines and infrastructure. 

B. Patch guest operating systems. 

C. Back up and restore workload virtual machines. 

D. Manage the lifecycle of VMware vCenter Server. 

E. Replace failed components. 

Correct Answer: BD 

 

QUESTION 3

An administrator deploys a VMware Cloud on AWS environment and configures an IPsec virtual private network (VPN)
tunnel to their data center. Hybrid Linked Mode connectivity, however, does NOT appear to be working. Before
contacting VMware Support, what could the administrator do to narrow down the possible issue? 

A. Fill in the relevant IP information for the on-premises infrastructure and run the desired troubleshooting connectivity
test. 

B. Download and review the Tier-0 (TO) gateway firewall logs. 

C. Configure a packet capture device in the on-premises data center to capture packets from the VMware Cloud on
AWS software-defined data center (SDDC) to determine which packets are being dropped. 

D. Configure a packet capture appliance on a local segment within VMware Cloud on AWS to capture and analyze
traffic across a specific NSX-T gateway interface. 
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Correct Answer: A 

 

QUESTION 4

Upon connecting a VMware Managed Transit Gateway (VTGW), the administrator discovers that there is an overlapping
workload CIDR bleck. How will the software-defined data center (SDDC) handle the overlapping IP space? 

A. It will reject the remote IP space. 

B. It will isolate the overlapping segment in the cloud. 

C. It will allow the overlapping IP space. 

D. It will ensure both CIDR blocks work in both locations. 

Correct Answer: C 

 

QUESTION 5

A new VMware Cloud on AWS customer has previously deployed a VMware Horizon-based VDI solution into their data
centerto support their remote developer workforce. Due to unforeseen growth, the company needs to quickly expand
their remote workforce. The growth will consume any forecast capacity in the VDI solution and, therefore, additional
capacity is now required. The VDI solution service owner would like the solution to support the ability to quickly scale
in/out to provide additional capacity based on demand. Which three steps should the administrator take to scale out the
VDI solution? (Choose three.) 

A. Deploy a new VMware Horizon pod on VMware Cloud on AWS. 

B. Deploy a new VMware Horizon pod on-premises. 

C. Configure network connectivity and firewall rules to allow communications between the two on-premises connection
servers. 

D. Configure network connectivity and firewall rules to allow communications between on-premises and VMware Cloud
on AWS connection servers. 

E. Connect the two VMware Horizon pods together using the security servers. 

F. Connect the two VMware Horizon pods together using a Horizon Cloud Pod Architecture (CPA). 

Correct Answer: BDF 
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